FES-(A)10

The outermost layer of the earth is :

(A) Magma
(B) Mantle
(C) Crust

(D) Solid iron core

Which among the following is not a renewable
source of energy ?

(A) Solar energy

(B) Biomass energy
(C) Hydro-power

(D) Geothermal energy

Which of the following is a non-renewable
resource ?

(A) Coal
(B) Forests
(C) Water
(D) Wildlife

Bharati Vidyapeeth Institute of Environment
Education and Research (BVIEER) is situated
at which place ?

(A) Pune
(B) Mumbai
(C) Delhi

(D) Ahmedabad

Lowest layer of atmosphere is called :
(A) Mesosphere

(B) Stratosphere

(C) Troposphere

(D) Thermosphere

What percentage of surface of Earth is covered
by water ?
(A) 60%
(B) 70%
(C) 95%
(D) 85%

(2)
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11.

12.
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Where was the first large scale nuclear power
plant in the world became operational in 1957 ?

(A) Germany
(B) Pennsylvania, US

(C) Japan
(D) India

Out of 70% water on earth’s surface, what
percentage of it is fresh water ?

(A) 4%

B) 15%

©) 3%

(D) 1%

Where are the Royal Botanical Gardens

situated ?

(A)  Mumbai
(B) Kolkata
(C) Dehradun
(D) Chennai

Who wrote the well known book “Silent
Spring” ?

(A) Rachel Carson

(B) Charles Darwin

(C) Ralph Emerson

(D) Henery Thoreau

Which activist’s name is highly associated with
the very famous “Chipko Movement” ?

(A)  Sunderlal Bahugna

(B) Salim Ali

(C) Mahatma Gandhi

(D) Indira Gandhi

Who wrote the book “Origin of Species” ?
(A) Aristotle

(B) Charles Darwin

(C) Ernst Mayer

(D) Watson and Crick

(3)
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Which layer of the atmosphere contains a layer
of sulphates which is important for the
formation of rain ?

(A) Mesosphere
(B) Troposphere
(C) Stratosphere
(D) Thermosphere

What percentage of land in India is under
forests ?

(A 12%
(B) 15%
(C) 21%
(D) 17%

Ozone is present in which
atmosphere ?

(A) Mesosphere

layer of the

(B) Troposphere
(C) Stratosphere
(D) Thermosphere

The food relation from grass — deer — tiger —
decomposer is called :

(A) Food web

(B) Food chain

(C) Trophic level

(D) Energy Flow

In a biotic community the primary consumers
are :

(A) Detritivores
(B) Herbivores
(C) Carnivores

(D) Omnivores

(4)
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FES-(A)10

Ecology deals with the study of :

(A) Living beings

(B) Living and non-living components

(C) Reciprocal relationship between living
and non-living components

(D) Environment

Energy flow in ecosystem is :

(A)  Unidirectional

(B) Bidirectional

(C) Multidirectional

(D) None of the above

Which of the following is not a gaseous

biogeochemical cycle in ecosystem ?

(A) Nitrogen

(B) Carbon

(C)  Sulphur

(D) Phosphorus

More than half of the earth’s flora and fauna

are found in :

(A) Tundra

(B) Tropical rain forests

(C) Grasslands

(D) Chaparral

A renewable exhaustible natural resource is

(A) Petroleum

(B) Coal

(C) Forest

(D) Minerals

The energy transfer to the next higher level :

(A) Increases

(B) Decreases

(C) Remains the same

(D) None of these

(5)
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26.
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FES-(A)10

What amount of air does an average human
require each day ?

(A) 109

(B) 10kg

(C) 129

(D) 12kg

Atmosphere contains various layers each
having characteristic composition. The correct
sequence starting from earth surface is :

(A) Stratosphere-lonosphere-Troposphere
(B) Troposphere-lonosphere-Stratosphere
(C) lonosphere-Stratosphere-Troposphere
(D) Troposphere-Stratosphere-lonosphere
Which of the following is a secondary
pollutant ?

(A)  CO,

(B) CO

€ G

(D) SO,

Which gas is responsible for global warming ?
(A) Oxygen

(B) Carbon dioxide

(C) Carbon monoxide

(D) Nitrogen

In which year India launched the Ganga Action
Plan (GAP) ?

(A) 1975

(B) 1980

(C) 1985

(D) 1982

When was the National River Conservation
Plan launched ?

(A) 1995

(B) 1990

(C) 1985

(D) 1988

(6)
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31.
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34.

FES-(A)10

What amount of % sewage and municipal

effluents account for the pollution load in

river ?

(A) 25%

(B) 50%

©C) 75%

(D) 40%

A cross-sectional view of the horizons in a soil

is called :

(A)  Soil erosion

(B) Soil Profile

(C)  Soil horizons

(D)  None of the above

Which of the following is not a major green-

house gas ?

(A)  Water vapour

(B) Carbon dioxide

(C) Ozone

(D) Methane

The term municipal solid waste is generally

used to describe :

(A) Waste from private homes, commercial
establishment and institutions

(B) Factory waste

(C) Mining waste

(D) Agricultural waste

Problem of solid waste disposal can be reduced

through :

(A) Lesser pollution

(B) More timber

(C) Population control

(D) Recycling

(7)
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The most serious environment effect posed by
hazardous wastes :

(A)  Air pollution

(B) Contamination of ground water

(C) Increased use of land for landfill

(D)  None of these

The level at which sound becomes physically
painful is :

(A) Above 95dB

(B) Above 65dB

(C) Above80dB

(D) Above 90 dB

How much % of electrical energy generated in
the world comes from nuclear power plant ?
(A) 12%

B) 17%

(C) 15%

(D) 20%

Where was the first controlled fission of an
atom carried out ?

(A) Germany

(B) Japan

(C) Us.

(D) None of the above

The process of burning municipal solid waste
in a properly designed furnace under suitable
temperature and operating conditions is :

(A) Disposal

(B) Incineration

(C)  Vermicomposting
(D) None of the above

Disaster management includes :
(A) Mitigation

(B) Reconstruction

(C) Rehabilitation

(D) All of the above

(8)
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41.

42.

43.

44,

45,

46.

FES-(A)10

What does the diversity in wild species
form ?

(A) Gene pool

(B) Genetic diversity
(C) Biological diversity
(D) Species diversity

Areas that are rich in species diversity are
called of diversity.

(A) Species diversity
(B) Ecosystem

(C) Hotspot

(D) Biodiversity

Which drug is used for controlling Parkinson’s
disease ?

(A) Cocaine
(B) Morphine
(C) L-Dopa
(D) Gossypol

How many species of mammals are found in
India ?

(A) 1200
(B) 453
(C) 182
(D) 350

The Andaman and Nicobar Islands alone have
as many as species of flowering plants
and species of ferns.

(A) 2200, 120
(B) 1500, 135
(C) 120, 2200
(D) 135, 1500

Which of the following is known as “flame of
the forest ?”

(A) Butea monosperm
(B) Jack fruit

(C) Jamun

(D)  Zizyphus

(9)
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48.

49.

50.
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52.

FES-(A)10

Which one is the largest group of flowering
plants in the world with over 18000 known
species ?

(A) Quercus

(B) Orchids

(C) Pine

(D) Cycas

There are 589 Protected Areas in India of
which ............. are National Parks and ..............
are Wildlife Sanctuaries ?

(A) 189, 400
(B) 500, 89
(C) 400, 189
(D) 89, 500

Which one is the most famous water bird
sanctuary in the world ?

(A) Ranthambor sanctuary

(B) Bharatpur sanctuary

(C) Manas sanctuary

(D) Girsanctuary

The Marine National Park is situated at :
(A) Bhopal

(B) Guijarat

(C) Kerala

(D) Mumbai

When was the Project Elephant launched ?
(A) 1990
(B) 1993
(C) 1991
(D) 1992

UNCED stands for :

(A) United Nations Conference  on
Environment and Development.

(B) United Nations Confederation on
Environment and Development.

(C)  United Nations Conference on Economic
Development.

(D) United Nations Confederation on
Economical and Development.
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54.
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FES-(A)10

EIA stands for :

(A) Energy Information Administration
(B) Environmental Impact Assessment
(C) Electronic Industry Association
(D) E-Insurance Account

When was ‘The Wildlife Protection Act’

passed ?

(A) 1992
(B) 1986
(C) 1972
(D) 1981

The Environmental Protection Act was

implementedon
(A) 1992
(B) 1986
(C) 1972
(D) 1981

The Air (Prevention and Control of Pollution)
Act was passed in :

(A) 1992
(B) 1986
(C) 1972
(D) 1981

World Environment Day is observed on
(A) Juneb

(B) June 10

(C) June 20

(D) June 30

What is Biodiversity ?
(A) Many type of flora and fauna in one
forest

(B) Many type of flora and fauna in many
forests

(C) Many population of one species in one
forest
(D) All the above are true
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60.

61.

62.

63.

64.

FES-(A)10

World Ozone Day is celebrated on :
(A) 16th August

(B) 16th September

(C) 16th October

(D) 16th December

Number of atoms in ozone molecules is :
A 1
B) 2
€ 3
(D) 4

GIS stands for :

(A)  Geographical Information Systems
(B) Geographical Information Science
(C) Global Imaging System

(D) None of the above

Environmental Impact Assessment (EIA) is

mandatory under which one of the following

India legislations ?

(A) Indian Forest Act

(B) Air (Prevention and
Pollution) Act

(C) Wildlife Protection Act

(D) Environment (Protection) Act

Control  of

Which of the following is a water-borne
disease ?

(A) Influenza
(B) Cholera

(C) Cancer

(D) Heart attack

Greenhouse effect refers to the :
(A) Ability of atmosphere to retail the water
vapour.

(B) Ability of certain atmospheric gases to
trap heat and keep planet relatively
warm.

(C) Ability of cloud to
electromagnetic radiation.

scatter

(D) None of the above
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65.

66.

67.

68.

69.

70.

FES-(A)10

‘World Health Day’ is observed on :
(A) 7th March

(B) 8rd March

(C) 7th April

(D) 8th April

In which year Hiroshima and Nagasaki incident
took place ?
(A) 1945
(B) 1948
(C) 1942
(D) 1941

Chlorofluorocarbons are primarily used as :

(A) Refrigerants

(B) Fuels of crafts

(C) Repairers of ozone layer
(D) Repairers of troposphere

Acid rainhasa pH :
(A) Below3

B) 3

Cc 4

(D) Above4

What is the average surface temperature of
earth ?

(A) 15°C

(B) 12°C

(C) 8°cC

(D) 20°C

Which of the following gas does not contribute
to the global warming ?

(A) Methane

(B) Carbon dioxide
(C) Sulphur

(D) Acetylene
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71.

72.

73.

74.

75.

76.

FES-(A)10

The discharge of warm water into a river is
usually called a .............

(A)  Thermal Pollution
(B) Water Pollution
(C)  Soil Pollution

(D)  None of these

Effects of CFC can be retained in atmosphere
for upto :

(A) Hundred years
(B) Few months
(C) Year

(D) Week

Gas released during Bhopal tragedy was :
(A) Methyl Isocyanate

(B) Potassium Isothiocyanate

(C)  Sodium Isothiocyanate

(D) Ethyl Isothiocyante.

Deforestation will decrease :
(A)  Soil erosion

(C)  Soil fertility

(B) Land slides

(D) Rainfall

Pyramid of numbers deals with number of :
(A) Speciesin an area

(B) Individuals in a community

(C) Individuals in a trophic level

(D) Subspecies in a community

Sounds above what level are considered

hazardous noise pollution ?
(A) Above 80dB

(C) Above 150 dB

(B) Above 30dB

(D) Above 120 dB
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77.

78.

79.

80.

FES-(A)10

When huge amount of sewage is dumped into a
river, its B.O.D. will :

(A) Slightly decrease

(B) Remain unchanged

(C) Increase

(D) Decrease

The true statement about ‘green-house effect’
isthatitis :

(A) Caused by combination of many gases
(B) Caused only by CO,

(C) Caused by CO,, CFC, CHs and NO,
gases

(D) None of these

What is B.O.D. ?

(A) The amount of O, utilized by organisms
in water

(B) The amount of O, utilized by micro-
organisms for decomposition

(C) The total amount of CO, present in
water

(D) All of the above

In a food chain of grassland ecosystem the top
consumers are :

(A)  Herbivorous
(B) Carnivorous
(C) Bacteria

(D) Carnivorous and Herbivorous
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